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Question: The remainder when 64 is divided by 7 is equal to
Options:
(a) 1
(b) 2
(©)3
(d)4
Answer: (a)
64 = 1(mod 7)
6454" = 1 (mod 7)
r = 1.

Question: Let A be a set defined as A = {2, 3, 6, 9}. Find number of singular matrices of
order 2 x 2 such that elements are from the set A.

Options:

(a)4

(b) 10

(c) 12

(d) 15

Answer: (¢)

A={23,6,9}.

el

M| =ad —bc = 0 = ad = bc

1. When only one element is used =4
2. When exactly two elements are use = ‘C, .2 x 2 =24
3. When exactly three numbers used =0

4. When all four used =*C,.1x2=38
Total =4+ 24 + 8 =36

z? z—4
Question: Area bounded by the curves Y=*~ 7= 5~ (in square units) is
Options:
125
(@) 3
20
(b) 3



80
(© 3
120
(d 3
Answer: (a)
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Question: If x,, Xx,, X3, X, are in GP, then we subtract 2, 4, 7, 8 from x,, Xx,, X3, X,
1

respectively, then the resultant number are in AP then the value of 24 (Xq5 X2 X34 Xy) iS
Options:

(d) 3%
Answer: (b)

= £1, T2, 83,84 = T1, Tar’, 1t 240 = 27r® = a'r® 2 (a%r®)
(z,-1),(z2 — 4), (z3 — 7), (x4 — 8)average in AP =572
= (a —2)(ar — 4)(ar* — 7), (ar® — 8)

(ar—4) — (@a—2)=(ar*—7) — (ar — 4)

Sar—a-2=ar’ —ar—3
=alr—1)—ar(r—1)=-1
Zalr-1)1-r]=-1
=alr-1)=1

=a(9) =1

=4

ar? —7—(ar—4)

= (ar* - 8) — (o —7)
=ar(r—1)—3=ar’ —ar’ -1
Sar(r—1)—arl(r-1)=2
=ar(r-1)1-r=2

ar(r—1)* _ =2 _
= a(r—1) -1 r=-2
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x
. f(z) = lT} — [Vz]Ve € [0.4]
Question: If where [.] denotes the greatest integer
function, then number of point discontinuity of f(x) is



Options:
(a) 12
(b) 8

(c)6
(d) 4
Answer: (b)

f@) =5 - [val
Check at z = 0,1,v/2, 2, /6,/8,/10, V12, V14, 4

Continous at x = 0,4

Ans =8
z+3)sin

" (
——dz
Question: The integral /0 1+ 3 cos’z is equal to
Options:

@ v
Answer: (a)

T (z+3)sinz
I— fo td)smz,, (1)

1+ cos?z

/ ((rr—z)+3)smz iz

1 + 3cos?z

n sinx
2l = ——(z+7+7— 2z + 3)dzx
/0 1+3cos2$( )

T : 7;/2 g
sinz sin z
2 = ——d 6) =2l = ———d 6
(fu 1+ 3cos?z :E) (=+6) (/[; 1 + 3cos?z I) (7 +6)

let cos =T — —sindr = dt

LR |
I= (/; 1(\@)2&) (m+6)

Question: If a and j3 are negative real roots of the quadratic equation x* - (p + 2)x +(2p
+9)=0and p € (a, ). Then the value of 3 - 20 is

Options:

(a) 11



(b) 13

()7

(d)5
Answer: (d)

O is greater than both the roots

af(0) >0

=1-2p4+1>0

= p > —%

D >0

(p+2)*—4(2p+1) >0

p>+4p+4—8p—36>0

p>—4p—32>0

(p—8)(p+4)>0

p>8orp< —4

a=—-2B=—4

B—2a=>5

Question: Let the straight line AB : x +y-2 =0, AC : 3y - x =2 intersects x-axis at B
and C respectively. If P is the orthocentre of the triangle ABC, ten area of the triangle
CPB is

Options:

(a) 10 sq. units

(b) 8 sq. units

(c) 6 sq. units

(d) 7 sq. units

Answer: (¢)

y=73+

NS



Question: Consider two statements:
z+1
Statement 1 : If (z - Z) is purely real, then there are exactly 2 complex numbers z.
z+1
Statement 2 : If (ﬁ) is purely imaginary, then there are infinite such complex
numbers z. Then
Options:
(a) Statement 1 is true
(b) Statement 2 is true
(c) Both statement 1 and statement 2 are true
(d) Both statement 1 and statement 2 are false
Answer: (b)

I arg(£) =0,n

Z—1

All the complex number lying on y— < z is
satisfy it except — 7,4
II. arg(%) =+3

Z lies on a circle

Statement 2 is true

Lo
Question: If @ and b are unit vectors such that angle between
3and?is sin~! (@> and¢ = 37 + 4?+ 9 (E) X?) .
9 Then, the value of

Options:

101
(a) 3

—101
(d) 9

101
() 9

—101

(d 3
Answer: (b)



S d=34+4db

i b—3d b4

b 3 b=314db 97 b 12
— 9-5d0

sin@z% =92 — 65
cosf = % —/81—65
do=4 —V16 =4
=9 _ 5% — 7819—20 _ 7;01

Question: Let ‘P’ be the parabola, whose focus is (-2, 1) & directrixis 2x +y +2 =0.
Then the sum of the ordinates of the points on P, whose abscissa is -2 is .
Options:

()~

(b)

(©~

(d)~
Answer: (d)
pf =pm

o G

_ K244k
k241 — 2k = £k
5k +5 — 10k = k* + 4 — 4k
4k —6k+1=0
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